Geometry H Name: Answey  Keu

Review for Quiz on Properties of Circles (10.1, 10.2 and 10.4) Date: Period?”

1) Identify each line or segment that intersects © L.

chords: JM, M
tangent: |jne m
diameter: ||
radii: [}, LM, L]

Use the diagram to the right to complete questions 2 -5
2) Radiusof ®S = |.6uniit
3) Diameterof ©S = 3unifs
4) Radiusof OR = 2 units

5) Diameterof OR - 4 Unifg

6) Is EF tangent to®D? 1 ) b1
= \et, EF 1§ fangent 10 0D Sinte

2 2 .2
( ﬁ>‘ ol sfl 7 uz*bzzclj co there 1¢ @ ngh\’
1 - .
3131 = 214l angie wnere DE ond EF meet.

7) Find the radius of ©A
2
2416’ (red)

o
A/ f2e2¢k = (Y48)(r+§)
r 74260+ rirlbrtbY

. 260 = \orrbo4
| | 192 < bV

E



8) Early in its flight, the Apollo 11 spacecraft orbited Earth 120 miles above the Earth’s atmosphere(ED). What was
the distance from the spacecraft to Earth’s horizon rounded to the nearest mile? Let C be the center of Earth, £
be the spacecraft, and H be a point on the horizon.

% 1000’ = 4120°
%" 4 16000000 = a4 00
W= q4TUY00

|‘X=qfﬂm\l6f B

D 18 e diSrance aove Earth
(D is a radius S0 1ris ¥ o Cw

9) ABistangent to OC at B. AD is tangent to ©OC at D. Find the value(s) of x.
D

2%~ 63X

”)_xz- 3x-6=0
2x42x-5%-5:0
2x(x#1)-5(x+1)<0
(2x-5)(»+1)= 0

l not 4 50 Non bi ho# -3
}  10) HK and HG are tangent to OF . Find HG. J)(:a,f) g X/-.Tl &
G 4+2a H |
Y+20:60-32
oF 5a—32 30-30
K a=\2
He = 4+2(12)

[He =28 )

For questions 11- 14, use the following diagram.
v

i

11) mAB =120° (bi¢ 120° 1 @ Cera) angle)

12) mBC = 0°  (190-120 = ©0) c
120"\ 0"

13) mCAB = 1504120 = 300° 0"

— ) /"‘)Oi'
14) mCBA =180 (AC cuisthe arce

nro 2haves )



15) Find the measure of @andb?. 16) Find the measure of ?Yand M72

Are they congruent? ‘ ) ~ 0 Are they congruent?
§) mAB = 48" M DL =4S i
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Find the measure of the arc or angle indicated.
17) 18) D ? 19)
c

B
=\80-4q=10 = OV ~
e QS = 300 ~140 1€

meh= 5 (80) |40 - -
- m'%=®\<a:\—@ —-'———__/\_qgol
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Find the values of the missing variables.

B 49+5+5X+\U = (%0
7 z) Ay = loS

(4y +14) A D pxr=10S-9Y

© logroxth=180

oy +5x =115

: 9 5¥= 11910y
Ty 4106 =A% Wl 4y ty =180 B
1x+10b= \E0 Wy 16 =1%0 lw5-4y = 11910y 5x= 115~ 100
k=M W= oS W5ty =116 Hx=15



24) Given 0 with radius 25 and OC = 7 and AC = CB, please find AB.

T x*25° AB=24+24
= SR LG reTy
1 Ab=
o X'z 51 —
%= an

25) The director of a telecast wants the option of showing the same scene from three different views. Explain
why cameras in the position shown in the diagram will transmit the same scene.

Since the angies that the cameral make
\nkercept hesame are, all 3 angles will

Camerap 1

Camera hove tre §ame mealure.

Camera 3
3

26) Harry is standing 35 feet from the center of a cylindrical statue with a radius of 6 feet. His lines of site form
two tangents with the statue. What is the measure of the arc on the statue that Harry can see?

- .
S~ 26 (08B - 75

mep = o8 (%‘5)

mee= 80.4°

Tota) mep: 50.1480.\

'\: 100.2°
)
sinee the meB=160.2° and angie B 1§ the centyal angle, mAC = 160.2° SINKE e RNl arg i€ 1§ the same
27) The circle is circumscribed by the pentagon as shown (not drawn to scale). If QZ=10, YX=9, XW =39,
UW =17, and SU = 10, find the perimeter of the pentagon.

Perimettr = To units




